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' NEW
’ 2018
Part-Ifl 3-Tier
MICRO & MACRO ECONOMICS

{Honours in Accounting & Finance)
PAPER—AHS
Full Marks : 100
‘ Time : 4 Hours
The figures in the right-hand margin indicate full marks.

: Candidates are required to give their answers in their
own words as far as practicable. ‘

Nustrate the answers wherever necessary.

- Group—A
1 { Micro Economics )
| :
1. Answer any one question : 1x15

{(a) Why is demand curve downward sloping ? Explain the

: exceptions of law of demand. When does demand
! curve shift rightwards ? g+4+3

{Turn Qver)



(b) How does a firm maximise profit by (i) maximising
output (if) minimising cost ? In this context, discuss

expanston path of a firm? 13+2

(c) How does a monopoly producer determine price and
output by maximising profit ? Why is there no supply

curve in monopoly market? 10+5

2. Answer any three questions : 3Ix8

{a} How is price elasticity on a point of linear demand

curve determined ?

{b) Why is short run average cost curve (SAC) U’
shaped ?

{c} Explain the law of variable proportion.
{d) Show that P.E = LE + S.E.

(¢) How do we get supply curve in perfect competitive

market in short run?

() How is price determined in periect competitive

market ?
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3. An"swer eny two questions : 2x3
(a): What are inferior goods?
(bi What is corner solution ?
(ci What are the main determinants of demand ?
(d) What is increasing return to scaie?

() Why is P = AR = MR parallel to horizontal axis in
. perfectly competitive market ?

Group—B

! { Macro Economics )}
|

4, }I}nswer any one gquestion : 1x15

|
(a) Explain different methods of measuring National

: Income {N.I). Discuss whether N.I is used as an index
. of growth and welfare or not. 10+5
!
ib) What are the causes of business cycle ? Discuss the
different measures of controlling business cycle.
7+8
I
i(c} Explain quantity theory of money with criticism. How
' js it related to inflation ? 10+5
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5. Answer any three questions : 3x8

(a) Discuss the properties of Keynesian consumption
function.

(b) Write a short note on investment multiplier.
(c) Explain demand-pull and cost-push inflation.

(d) How equilibrium N.I. is determined by the IS-LM in
Keynesian model ?

(e} What are the problems associated with national
income measurement?

(f) Briefly 'explajn acceleration principle.

6. Answer any two questions 2x3
(a) What do you mean by savings-investment identity ?
(b} What are the different phases of Business cycle ?

{c} What are the functions of money?

(d) if MPC = -2 , then what will be the value of investment

multiplier ?

{¢) What is the impact of inflation on production ?

[Internal Assessment — 10 Marks]
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